FinnMETKO LEANT 2022

Jämsä 1.-3.9.

Exhibition stand prices and stand descriptions

Exhibition area address for goods deliveries:
Gradia Jämsä/Martti Järvinen/FinnMETKO 2022
Exhibition stand number
Company name
Name and telephone number of exhibitor's contact person
Metsäoppilaitoksentie 14, FI-42300 Jämsänkoski

The translations into English are provided to facilitate understanding of the contract and its annexes. They are not legally binding documents and are provided as is. The legally binding documents are the original Finnish documents.

Exhibition organiser: Finnmetko Oy Sitratie 7, FI-00420 Helsinki Business ID 0757675-8 www.finnmetko.fi

FinnMETKO 2022 exhibition stand prices and descriptions

Exhibition stand hire prices are given without VAT. VAT will be added to all prices at the valid rate. The stand prices given in the price list are valid until 31.5.2022. After that date, the price of available stands will increase by 5% of the listed price. Updated stand prices will be published in June 2022 on the www.finnmetko.fi website.

An additional, registered and organiser-approved exhibitor participating at the same stand as another exhibitor will be charged an exhibition fee of 25% of the stand price. However, this charge will not exceed €1400, or €1500 from 1.6.2022.

Stand locations are shown on a separate map of the exhibition area. There are exceptions concerning scale on some areas of the map, with e.g. some journeys and stand sizes not to true scale. As such, stand sizes are not to scale with respect to one another.

Outdoor stands are available for hire in squares of certain sizes. Stand shapes that deviate from the standard squares and sizes on the map should be agreed on with a representative of the exhibition organiser. It is possible to combine adjacent stands.

Work site safety

Finnmetko Oy requires everyone working and building stands in the exhibition area to hold an official site identification card. People pitching in on a voluntary basis do not require a card.

Tent contract suppliers

Finnmetko Oy's contract supplier is Stopteltat Oy in Orimattila. For other suppliers, Finnmetko Oy will charge €100–400 per tent as a safety and information charge.

Exhibitor service traffic and parking:

Service traffic to stands is permitted to exhibitor card holders outside of exhibition hours. No separate service traffic cards will be distributed for service traffic. There are also designated parking spaces for exhibitors near the main gate to the main exhibition area (see map) and next to the demonstration area (see map). Service traffic is permitted in the mornings from 6.30am–8.00am and in the evenings from 6.00pm–8.00pm. Vehicles must exit the exhibition area before 8.00am. No service traffic to stands is permitted during exhibition days from 8.00am–6.00pm. All vehicle traffic (including mopeds and quadbikes) is absolutely prohibited during the exhibition for public safety reasons.

Indoor stands

The FinnMETKO hall (stands 330–499)

It is forbidden to make holes in hall stands and in stands surfaced with asphalt.

Indoor stands are located in a lit hall. The price of a stand covers basic wall structures, including a 2.5-metre-tall exhibition wall, a crossbeam with text, and the required support elements. Exhibition stands are built by KOKO Lahti Oy / Lahden Messut. Lahden Messut offers exhibitors an indoor stand construction service and hires out additional structures and furnishings.

Services and structures for stands can be ordered throughout the exhibition area. The relevant order form can be found on the website www.lahdenmessut.fi and will be posted to parties that have reserved a place in the hall at a later date.

The basic structural plans and sizes of indoor stands are shown on the map.

Outdoor stands:

Sand field (stands 100–189, 1300–1324)

The sand field is covered with sand/gravel. Stand sizes are shown on the map.

Heath forest (stands 200–299)

The heath forest is dry heath forest from which all trees and tree stumps have been removed. Digging is prohibited at stands.

Stand sizes are shown on the map.

Ball field (stands 300–329)

The ball field is a hard and even field covered with crushed gravel. The field is 90m x 60m in size. It is suitable for exhibiting utility vehicles, passenger vehicles, trailer vehicles, and wheel and oil products. Damaging the surface of the area is prohibited. Stand sizes can be seen on the map. **Tents must be supported with weights.**

Park forest (stands 500–655)

Forested, rugged park, no demonstrations.

The ground is rather even heath, with rugged pine trees in the park area. **Ensure in advance** that any tent you own or have ordered fits in the area.

The average distance between trees is 4-5m. Park forest stand sizes are shown on the map.

Asphalt fields 1 and 2 (stands 700-799)

Even asphalt fields. The stands are suitable for exhibiting property maintenance machinery and e.g. equipment and oil products. Forest machinery is stored in part of the area, so some traces of oil are present and there is an incline. It is forbidden to make holes in stands surfaced with asphalt.

The FinnMETKO-hall (stands 330–499)

stand size m ²	stand shape	stand price €
	m x m	
8	4 x 2	1770
12	3 x 4	1920
16	4 x 4	2450

Timber cutting demonstration area (stands 800–802, 811, 850–860)

The timber cutting demonstration area is located near to the main exhibition area (thinning). Some of the thinning areas may need to be fenced off for public safety reasons. The party hiring the stand is responsible for public safety in the cutting area. Finnmetko Oy is responsible for public safety along access routes.

Stand number	Surface area	€
800–802, 811	1.0 ha	subject to agreement
850	1.5 ha	subject to agreement
855	1.5 ha	subject to agreement
860	1.5 ha	subject to agreement

Sand field	Ball field	Heath forest	Asphalt fields 1 and 2	Park forest
9–20 m² €1510	200 m² €3210	7x5 m, 17.5 m² (triangle) €1590	15–18 m² €1790	9–30 m² €1460
30–54 m ² €1740 Stand 156 is an exception €3500	300 m² €3800	7x7 m, 49 m² €1700	25 m² €1940	42–70 m² €1560
64–90 m² €2020	400 m² €5020	10x8 m, 80 m ² €1830	32 m² €2260	75–95 m² €1710
100 m ² €2260	700 m² €6680	10x10 m, 100 m ² €2180	40 m² €2340	100–149 m² €1830
120–130 m² €2430		10x12 m, 120 m ² €2720	50 m ² €2390	150–179 m² €1930
			64 m² €2560	180–190 m² €2310
135–150 m² €2680		11x15 m, 165 m² €3040	75 m² €2680	200–240 m² €2580
200–210 m² €3020		15x15 m, 225 m ² €3160		250–280 m² €2770 288 m²
225 m² €3300		240–250 m² €3330		€2990 300–350 m² €3140
250–260 m² €3760		300 m² €3990		400–420 m ² € 3920
300 m² €4350		335–375 m² €4990		440–550 m ² €4990
360–375 m² €5440		390 m² €5200		1000 m² €6390
435 m² €6290		700–750 m² €6470		Stand 500 €2900
450 m² €6480		40x25 m, 1000 m ² €8520		
480–500 m² €7230				
625 m² €9030				
700 m² €10130				
800 m² €11520				
Stand 112 subject to				
Stand 113 (includes event stage and isthmus area)				
€4690				

Demonstration area, incl. earthmoving machinery, bioenergy equipment and forest machinery (stands 862–945)

500 metres from the main exhibition area asphalt fields there is a 7.5-hectare gravel area where it is possible to use all earthmoving and energy industry machinery and devices, from excavators and dumpers to crushing and chipping equipment. There are basic exhibition services in the area. The area has its own entrance and car park. Stands can be combined. Stand sizes are shown on the map.

There is free bus transportation between demonstration areas.

Stand number	Surface area m²	€
Demonstration stands		
862-945		
	75 m ²	2050
	100 m ²	2420
	150 m ²	2730
	200 m ²	2870
	300 m ²	3230
	350 m ²	3490
	400 m ²	3650
	500 m ²	4390
	600 m ²	4820
	750 m ²	5290
	780 m ²	5430
	900 m ²	6250
	1000 m ²	6620
	1200 m ²	7940
	1400 m ²	8870
	1550 m ²	9080
	1600 m ²	8770
	1800 m ²	8950
	2000 m ²	9480
	2250 m ²	10600
	3000 m ²	12050

Stands alongside the access route leading to the demonstration area (803-838) There are trees at the stands

Stand number	Surface area m ²	€
803–838	16–70 m ²	1830
	71–200 m ²	2410
	201–300 m ²	3150
	310–400 m ²	3670
	700 m ²	5770

Main gate triangle (stands 20–80)

The exhibition area is located in the immediate vicinity of the main gate. Fairly even heath terrain, with sparse pine trees and some stumps and grasses in the area. Trees may not be felled in the area.

Stand number	Dimensions	Surface area	€
27	8 m x 7 m	56 m ²	1750
23	12 m x 10 m	120 m ²	1950
61	12 m x 20 m	252 m ²	2580
39	21 m x 12 m	252 m ²	2580
40	21 m x 12 m	252 m ²	2580
41	21 m x 12 m	252 m ²	2580
43	21 m x 12 m	252 m ²	2580
79, 80, 81, 83	21 m x 12 m	252 m ²	2580
33	24 m x 12 m	288 m ²	2680
36	24 m x 12 m	288 m ²	2680
25	25 m x 14 m	approx. 300 m ²	3000
54, 55	12 m x 30 m	360 m ²	3500
58		400 m ²	3580
48		500 m ²	3800
44	21 m x 24 m	504 m ²	3800
45	21 m x 24 m	504 m ²	3800
46	21 m x 24 m	504 m ²	3800
47	21 m x 24 m	504 m ²	3800
49	21 m x 24 m	504 m ²	3800
78	21 m x 24 m	504 m ²	3800
22	24 m x 24 m	576 m ²	3950
26	24 m x 24 m	576 m ²	3950
28	24 m x 24 m	576 m ²	3950
30	24 m x 24 m	576 m ²	3950
32	24 m x 24 m	576 m ²	3950
34	24 m x 24 m	576 m ²	3950
37	24 m x 24 m	576 m ²	3950
24		700 m ²	4700
64		700 m ²	4700
35	24 m x 30 m	720 m ²	4950
62		750 m ²	4950
66		750 m ²	4950
68		750 m ²	4950
76		900 m ²	5580
38	45 m x 24 m	1080 m ²	6090
42	45 m x 24 m	1080 m ²	6090
50		1200 m ²	6600
60		1250 m ²	6710
52		1500 m ²	6900
77	24 m x 70 m	1680 m ²	7360
20	-	1800 m ²	8600
74		2400 m ²	11100
72	National wood loading		
	championships competition		Subject to agreement

Business park area (stands 9–19)

Stand number	Dimensions	Surface area	€
14	15 x 20	300 m ²	3950
10		600 m ²	4400
9		600 m ²	4400
15	33 x 20	660 m ²	6390
16	33 x 20	660 m ²	6390
17	33 x 25	825 m ²	6620
19	30 x 30	900 m ²	7140
11	33 x 50	1650 m ²	8820
12	33 x 50	1650 m ²	8820
13	33 x 50	1650 m ²	8820
18	66 x 66	4356 m ²	subject to agreement

Business park area (1000-1040)

Stand number	Dimensions	Surface area	€
1000	35 x 20	700 m ²	4600
1001	25 x 20	500 m ²	3950
1002	10 x 20	200 m ²	2580
1003			Competition area
1004	15 x 15	225 m ²	2580
1005	15 x 15	225 m ²	2580
1006	15 x 4	60 m ²	2380
1007	15 x 4	60 m ²	2380
1010	4 x 8	32 m ²	1760
1012	4 x 8	32 m ²	1760
1014	4 x 8	32 m ²	1760
1016	4 x 8	32 m ²	1760
1018	4 x 8	32 m ²	1760
1020	4 x 8	32 m ²	1760
1022	4 x 8	32 m ²	1760
1024	4 x 8	32 m ²	1760
1026	4 x 8	32 m ²	1760
1028	4 x 8	32 m ²	1760
1030	15 x 15	225 m ²	3600
1032	7 x 15	105 m ²	2950
1034	Triangle 14 x 6	42 m ²	2650
1036	Triangle 14 x 6	42 m ²	2650
1038	5 x 10	50 m ²	2650
1040	15 x 15	225 m ²	3600